CHEM-5181 – Mass Spectrometry and Chromatography
Interpretation Homework #1
(1) Deduce the elemental composition of the group of peaks around m/z 146

(2) As #1 for the peaks around m/z 111

(3) Are the compositions in #1 and #2 consistent with a logical neutral loss?

(4) Calculate RPDB for m/z 111 and 146. What is the interpretation of this number?

(5) Identify the molecule
[image: image1.emf]

(replib) Benzene, 1,4-dichloro-
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10 largest peaks: 


  146 999 |
  148 686 |
  111 381 |
   75 274 |
   50 173 |


   74 173 |
  113 125 |
  150 112 |
   73
  95 |
  147
  73 |

78 m/z Values and Intensities: 


   25
   5 |
   27
   2 |
   28
   5 |
   31
  Tr |
   32
   3 |


   33
  Tr |
   35
  17 |
   36
  14 |
   37
  58 |
   38
  47 |


   39
   9 |
   43
  Tr |
   44
  Tr |
   47
  20 |
   48
   9 |


   49
  45 |
   50 173 |
   51
  51 |
   52
   3 |
   54
   2 |


   55
  37 |
   56
  12 |
   57
  Tr |
   59
   1 |
   60
  20 |


   61
  26 |
   62
  16 |
   63
  17 |
   64
   1 |
   67
  Tr |


   71
   3 |
   72
  17 |
   73
  95 |
   74 173 |
   75 274 |


   76
  38 |
   77
   2 |
   82
  Tr |
   83
   2 |
   84
  31 |


   85
  40 |
   86
  20 |
   87
  12 |
   88
   2 |
   89
  Tr |


   91
  Tr |
   94
  Tr |
   95
   1 |
   96
   4 |
   97
   8 |


   98
   2 |
   99
   3 |
  100
  Tr |
  104
  Tr |
  106
  Tr |


  107
   3 |
  108
   4 |
  109
  19 |
  110
  34 |
  111 381 |


  112
  34 |
  113 125 |
  114
   7 |
  118
   1 |
  119
   1 |


  120
   3 |
  121
  Tr |
  122
   2 |
  133
  Tr |
  135
  Tr |


  144
  Tr |
  145
   4 |
  146 999 |
  147
  73 |
  148 686 |


  149
  42 |
  150 112 |
  151
   7 |

